EAGRAROBREERT — 2 N— ABISH —F

202037150 (H) 2@E41LU6H

R Xl

REFFI

CES&)

(HEE] B

‘ [R1%] & ‘ [REBE] — | & (%) 18000 RE

[~&%] 1 7% :5,100,000 @ ~ 2 7% :2,000,000 F ~ 33 :1,300,000 4

4 7% 770,000 § 5 3& : 510,000 [

BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. F. 3+U7 :53. ~6-4- . - HEE (EH)
Fa-—X>T> "3 56.0 1(?)9 6643 | 8.1 ! ‘zg? (mﬁ/—zt»x‘
L:¥XF B:a>TVHh—%2— #Et /—Rex
N 5 . o LHRE :54. —-3-2- . — REH— (EH)
®YF —HILKY —LZX 4 3 e 1(35/%0 3-3-2-2 | 38.3 3 (4_9‘8 i
A:Tonalist #£2:Maltese Googol Nagako Fujita
. JETERS : -9-4- - HehigrE (/)
* y UNA SIS0 s 1o .2 1 (ffg) 2RAR
LNZ—ka2—X B:I7 82L3R Hik4U%
IASIA—T # 3 g{'&’fé%ﬁk 1( 754t)2 7877 |38.1| — | 6 | 520 1‘%@‘/}:&& €350)
R:IRGFCFLY BiebyFy—5— 0 | S mis
o JIHERE :54. -4-4- . — AREC (EH)
HATAEHTH "o Km | | ° | mmam
RIAY>TTyva BT7—AFIU— HFREANIS
S 4L%5577 [B] #o BT 7 T R e B I Il -
LIZXRT—WoF— B:oOxzh—=/N LIHIT7—L
o . KEHARIR : —12-9-1 - FEERT (ERH)
715l g| 7277 -1> 4 3 S (11.5;.5 13-12-9-8 | 39.2 9 gz) B
L:27)—>ke—0O— B:3 XA/ — (B) A1 -FRL—->a>@aEI7r
= 47 4 3 | R 1:55.6 13-14-12-11] 39.1 | — 11 470 | AMEWLIE (EH)
g|7|14| 77V > 755.0 ) Ca |=EB
R:Zw—R7par BYLRTYLY HEHS
- N FiElE :55. -6-9- . — NEAREL ()
9 3| FUF UL AA # 3 o (11515/48) 7-6-9-8 | 39.6 2 (5:)22) /m\;‘gim
RiANTz—JI B:NFvIT TA XXy R4t
__ 3 | A= 1:55.8 [ 11-9-12-11 | 39.4 | — | 8 | d4o4 |AIE—F (i)
1011|7717/ A “ 56.0 ON) o |1gE
R:bhF>E> K B:I 4L BF JE—
RS Py 4 3 | BUBEHE 1:56.0 16-14-14-11] 39.4 | — 13 | 488 |TIRIE® (/)
111816l EL Yy YA —=T I 56.0 1172 (-g) | FiuLmiE
NR=HNE BbXIFRTFAT Hi=tie]
e 4 3 | xR 1:56.2 11-12-9-8 | 40.0 | — 12 | 494 | FOEHEEZ (5E5F)
12 8 HINAINILR R 56.0 o (1 1/4) o) B
R:TF7>TVRX B:T74LXRE—FX $#HE 1ER
— oo NN & :56. -5-7- . — AKEEF (i)
N - PEEPELEEE # 3 A 1(546)9 4-5-7-14 | 40.8 16 (4_728) iAt;ﬁE)\
LIET 73247 B:TAT7ATI R IR HEA
- 4 3 | BHEARR 1:57.2 15-14-14-15| 40.6 | — 7 496 | AEB (EH)
147|13| ¥/ 1=T7 -2 6.0 @ oy | HFEA
LX:AYya1zZgr—X B:LTIINI4T RS
> + 4 3 | HILFE 1:57.5 2-2-2-4 | 41.8| — 14 472 | SRR (3EH)
151510 AM T3 '7737‘37 56.0 (11/2) (-10) ARLTF I
RGN Bix1YanyAFy =0 BB
- I easq, . 016 _ EHE— (%)
16 1 RYF YNNI A 4 3 50 e 9 (25(.(;0_.;) 9-9-16-16 | 43.7 10 (i‘:é) v
b5 K BANLT Y LalEse]
@ 71 L
) 51.0-38.3
NA>ZA L | 12.7-11.7-12.4-13.1-13.0-12.7-12.9-12.4-13.0
® I —F—@EBIERL
13—7+— (x4,10)15(7,12)5(3,2)11,6(1,8) (9,14)13,16
2o =7= (x4,10)15,7,12(3,5)2(1,6,11) (9,8) (16,13,14)
Fol=5r= 4(10,15) (7,5,6) (12,2) (3,9,8) (1,14) (16,13) 11
40—+ — (x4,15)5(10,7,6)2(3,9,8) (16,1,14)12,13=11
[ N3
B O 5 1,080 714K 5-15 1,040H 7 E 3-8 570M RPEL ) 5-6-15 2,360/
18 B 5 230M 5-6 470M B = 5-15 3,720M K31 5-15-6 26,880
15 1809 6-15 340M B H 5-15 7,560
6 130M4

ABRICOVTHRTEEERROODE, THEB LS,




